

			Vendor	Ranking			Page 1 of 1
Letting:	03211116	November 16, 2021 02:00 PM	Call Order	: 001	Contract:	E3V22	
District:	District 3			DIST/ST-WIDE,	Fed Aid No:		
Contract Time:	12/31/22 CC	MPLETION DATE		JACKSON, WASHINGTON	Project(s):	42378147202 (*))
Contract Desc:	: DISTRICTWIDE BDI PROJECTS - GABION MATTRESS INSTALLATION						

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$1,138,254.51	100.00%
	JRM CONSTRUCTION GROUP, INC.	Irregular	Irregular bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Page 1 of 4

Letting:	03211116	November 16, 2021	Call Order:	001	Contract:	E3V22
District:	District 3		Counties:	DIST/ST-WIDE,	Fed Aid No	: N/A
		IPLETION DATE		JACKSON,	Project(s):	42378147202 (*)
Contract Descr	: DISTRICTWI	DE BDI PROJECTS - GABIO	ON MATTRES	SYNSTALLATION		

The work under this Work Document Driven contract consists of the installation of Gabion Mattresses for ditch and slope refurbishment in Jackson and Washington Counties. Spoil material removed shall be relocated to the nearest Florida Department of Transportation storage pit, as directed by the Engineer. Maintenance of Traffic and Mobilization are incidental to the pay items provided. A Business Development Initiative reference sheet is required to be submitted with Bid Documents.

This contract will have a budgetary ceiling of 750,000.00.

BUSINESS DEVELOPMENT INITIATIVE - Bidders must be a Small Business as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/egualopportunity/bdi.shtm For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdi-projects.html Pregualification per Rule 14-22 is not required. Bidders must complete and submit the Small Business Affidavit Form No. 275-000-01 for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/egualopportunity/bdi.shtm It is only necessary to submit the Small Business Affidavit SBA form once per year. Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work. Bidders must submit the BDI Reference Sheet Form No. 275-000-02 with the bid unless bidder is pregualified in the projects major work type, per Rule 14-22, Florida Administrative Code, Upload the completed BDI Reference Sheet Form No. 275-000-02 as a zip file using the File Attachment Upload folder in the AASHTOWARE Project Bids application. BDI Reference Sheet may be found at: https://www.fdot.gov/egualopportunity/bdi.shtm Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, the BDI Bid or Proposal Bond Form No. 375-020-16, or the standard Bid or Proposal Bond

form, Form No. 375-020-09.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Alternate Item Description	Quantity Units		ANAGEMENT & G OF FLORIDA				
() indicates item is bid as Lump Sum	Units	Unit Price	LC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount



Tabulation of Bids

Page 2 of 4

Letting: 03211116	November 16, 2	2021 Cal	l Order: 001		Contract:	E3V22	
Line No / Item ID Alterna Item Description	te Quantity Units	(1) ROGAR MA	OF FLORIDA				
() indicates item is bid as Lump Sum	1	LL Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SODDING (SY						
0005 0104 10 3 SEDIMENT BARRIER	1,000.000 LF	1.00000	1,000.00				
0010 0110 4 10 REMOVAL OF EXISTING CONCRE	845.000 TE SY	20.70000	17,491.50				
0015 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE	250.000 CY	49.70000	12,425.00				
0020 0121 70 2 FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY	2.000 CY	2,470.00000	4,940.00				
0025 0530 5 11 GABION, MATTRESS LESS THAN FOOT THICKNESS	8,450.000 1 SY	128.00000	1,081,600.00				
0030 E110 2 CLEARING & GRUBBING	1.000 AC	8,000.00000	8,000.00				
0035 E570 9 1 WATER FOR GRASS & PLANTS	1.000 MG	0.01000	0.01				
0040 E575 1 SODDING	900.000 SY	7.11000	6,399.00				
0045 E577 70 SHOULDER REWORK	900.000 SY	7.11000	6,399.00				



Tabulation of Bids

Page 3 of 4

Letting: 03211116 November 16, 20	021 Call Order: 001	Contract:	E3V22
Line No / Item ID Alternate Quantity Item Description Units	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		
() indicates item is bid as Lump Sum	Unit Price LLC Ext Amount	Unit Price Ext Amount	Unit Price Ext Amount
SECTION: 0001 (SODDING (SY			
0001 SODDING (SY) Section Totals:	\$1,138,254.51		

Contract Grand Totals:

\$1,138,254.51



##